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NENLIRTE HiE = h o vy
g6z | s K4 OUT IN |GROSS| HDCP | NET | crossh: % G | BhnE K4 OUT IN |GROSS| HDCP | NET |crosshif e

1 KHE Hik 42 38 80| 9.6 |70.4 51| ft% f— 43 44 87/12.0 | 75.0
2|IUH =54 44 42 86| 15.6 | 70.4 52| K PRI 47 52 99/24.0 | 75.0
31 2EF W 42 38 80| 9.6 |70.4 53/hE Fik 47 45 92/ 16.8 | 75.2
AR feAst 37 36 73| 2.4 |70.6 54 /K B 41 38 79| 3.6 |75.4
5| RAPR I 39 39 78! 7.2 170.8 55 Hift Bk 47 44 91| 15.6 | 75.4
6H5H OAH 40 44 84| 13.2 | 170.8 56| M HHH 48 42 90| 14.4 | 75.6
E=v -} 41 42 83/12.0 | 71.0 577 EH 40 44 84| 8.4 |175.6
S|k Y 42 47 89/18.0 | 71.0 58| 7Kl vk 41 43 84| 8.4 |175.6
9 #H TR 41 41 82110.8 | 71.2 59| £+ T 45 38 83| 7.2 |175.8
10/A)1] =8 41 47 88/16.8 | 71.2 60 BHE 44 38 82| 6.0 |76.0
L1|RAR #i=]RR 46 42 88/16.8 | 71.2 61|&EIN Jh 47 41 88/12.0 |76.0
123 KR 44 44 88/16.8 | 71.2 62 |fEE 5L 38 44 82| 6.0 |76.0
13 4K 1EFD 38 43 81 9.6 |71.4 63| FHT £ 50 50, 100]24.0 |76.0
14| BT &R 46 41 87/15.6 | 71.4 64|FiH & 45 42 87/10.8 |76.2
15 KBk B3 40 41 81| 9.6 |71.4 65| KE 16— 46 41 87/10.8 |76.2
16 KH 1S 40 39 79 7.2 |71.8 66 Bkl B 50 54| 104]27.6 |76.4
1775 —BB 37 42 79| 7.2 |71.8 676 H HEHE 41 44 85| 8.4 |76.6
18| #t #k 41 44 85 13.2 | 71.8 68/ EIK 43 42 85| 8.4 |76.6
19 /g 1 41 43 84/ 12.0 |72.0 69| 4 FRI 42 43 85| 8.4 |76.6
20 g5 P 40 38 78| 6.0 [72.0 70| EM HESE 42 42 84| 7.2 |76.8
211980 JE— 38 39 77 4.8 [72.2 71158 RGE 47 49 96/ 19.2 |76.8
221 /NS Ak 43 40 83/ 10.8 | 72.2 72/ BOR B 39 44 83| 6.0 |77.0
PRINSUEPR 43 40 83/ 10.8 | 72.2 73 W IEE 49 46 95/18.0 | 77.0
24 | F 2 41 40 81| 8.4 |72.6 74|71 5 HES 45 50 95/18.0 |77.0
25 R H Ak AL 44 43 87/14.4 | 72.6 755 W) Fn % 48 53| 101]24.0 |77.0
26| -1 Ik 45 41 86| 13.2 | 72.8 76 fAEE FERE 50 44 94| 16.8 | 77.2
27|k & 40 40 80| 7.2 ]72.8 77 # R ] 50 49 99|21.6 |77.4
28 [fndE AR 41 37 78| 4.8 [73.2 78|10 HC 45 53 98/20.4 |77.6
20 B 1E(E 44 52 96| 22.8 | 73.2 T9| KK 1 49 47 96/ 18.0 |78.0
301 B 5% 42 41 83| 9.6 |73.4 80|#EEY 41 44 52 96| 18.0 |78.0
31|tk & 46 42 88| 14.4 | 73.6 814K 1# 52 50/ 102]24.0 [78.0
32 B K H] 44 43 87/13.2 | 73.8 82 |FIER # 44 38 82| 3.6 |78.4
33|B BEE 44 42 86| 12.0 | 74.0 83| /MK AT 53 53| 106]27.6 |78.4
34|80 5F 44 42 86| 12.0 | 74.0 84 x4 FH— 44 43 87| 8.4 |78.6
35| & = 43 43 86| 12.0 | 74.0 85 iy — 46 56/ 102]/22.8 [79.2
36| FKH TR 55 49| 104[/30.0 |74.0 86| EiL —HE T 49 52| 101]/21.6 |79.4
37| RER BRI 37 42 79| 4.8 |74.2 87| E% 1 48 46 94| 14.4 |79.6
38| HIH F5il 41 38 79| 4.8 [74.2 88| HBTH B 50 55| 105/ 25.2 [79.8
39| FnH % 40 45 85/ 10.8 | 74.2 89 |EA 15— 49 47 96| 15.6 | 80. 4
40 |5E /= 1 45 39 84| 9.6 |74.4 90| BH— 45 45 90| 9.6 |80.4
411K B R 42 42 84| 9.6 |74.4 91 iy =~ 45 45 90| 8.4 |81.6
42| 1Ry SER 46 43 89| 14.4 | 74.6
43|51 AT HE 36 40 76| 1.2 |74.8
44 |7 HF = 40 42 82| 7.2 |74.8
45 /N gl 2 45 43 88| 13.2 | 74.8
46 | BFR & 40 42 82| 7.2 |74.8
47 R ZEHE 37 45 82| 7.2 174.8
48 | H 1L FI R 40 41 81| 6.0 |75.0
49 | FHA W 42 39 81| 6.0 |75.0
50 FTH ft— 44 43 87/12.0 | 75.0
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